ol
S

J

14
23 %7

27
22 % 33







0 %

Staol mdoR &) k2 ALY
@D 0.363636--- = 0.36 @ 2.456456 -
® 0.053053053 -

.o=9.456
. =0.053 @ 1.2777---=1.27
(3 0.342342342 --- = 0.349



m#0)

® 26

@ 0

@ -1

dD 3.14



@ 3.141592--- @ —
27
232 X 32
© —

@ 0.512512512---



JZuO

qml



7. O T SA &2 A2
.. . 178 . ..
@ 042<0.4 @ 1.79= m @ 0.6 > 0.60
. . 994
@ 9.9=10 ® 10.04 = —



<

olJ
T
)

® 9 3 18 @ 90 ® 99

D7



o|J

i

T
250
21

42

©
®

© 3.14159---
120

7H

40
24
360




o a o] grol 2

i

447} Aekn

ot

A



11.

Ha

G T adw epE?

D 2.803 @ 2.803 3 2.803 @ 2.83 3 2.83



. . 13
12, 1HTE 245 g o iske] b = (999.9 - 99.9) x T

Bk 2 A5 W, 0 o HAS v ok HAghe y o @ o,
x-y o gh& Fotolet,

& e
c

°] 7ol 1



%%‘%Z] %%._8_7}_1%?
®1=09

@ 1=090
@ 1.9 — 180

3@ 0.9 = 0.89
® 0.1=0.00



A

<H

e

<

.é__]-_

shaxt

@ 1000x — x @ 100x — 10x

@ 100x - x

® 1000x — 10x

@ 1000x — 100x






16.

24 x,y o] tigte] 0.30x = = 4 uf, o] 2HE

off thate] x xy ©f gh=

>R
=%

330

Tatodzl. (e, xy < 500 )



17. of@ Adso] 152 ool & 212 FRoto] L5 & Fe Hekd)
2

ool A7} 0.5 7} H9let. vpe

YEE
-



18.

TR A 2 SFasE Uiy, sl 2212 2R Kol
o] .41 o] T|glT, AU BEE AR HobA o] 047 o] Holt}.
o] W, 7|ofE % A S FoHH?

4 41 42 43 47
o X o= @ 2 @ B ® ¥



2?7 (F10<a<20)

oftt. olm, a + b 2| #k

® 43 B3 48 @ 55 ® 59

@D 34



20.

A

g% AR eSS o, Ard ofel A R 2h=] o] Sk
=3 ol 100 A 22 0] 24747 o] 2 Ftoiet,

A~
T
4

i)

Ct-
(=

e

v



21. x=_-¢ o], 106x — x 9] ZFS FL5}oiat.

\H»-lk

S ER
=%



the A1 B 0 ©] obd 54t a,bc.d.e O] TS FEHA?

abcde — ab _ 24301

O-abcde = —54560 = 99900




23. % <04 < g ol 1% A 2 Tajolat,

S ER
=%



Tl 2p1%) 2 o, x

100 ©]3

%7} o T, ke

k .
ﬂ (L’XI__

X
}

24.

ot

S

kel el A4 7

ks

447} 5171 9]

s

o
T

7



25. &S ARktstolet.
02,03 04 0.9

iy =2y 2y 2 =2
01+ -+ 4+t

& e
=%



